
1, Numbers

2, Remove the protective film of acrylic



3, Fixed the LCD screen with M2 screws in the plate 1

4, Fixed the LCD board



5, Place the red button on the 1 board

6, Covered the 2, 3, 4 board, the LCD screen and red button sandwiched between No. 1 and No. 4 plates.



7, Use M3 long screw fixing 1, 2, 3, 4 board, ready to install 5, 6, 7, 8 plate.

8, Plug in the oscilloscope motherboard and LCD, while the red button and the button on the motherboard are aligned and mounted
on the motherboard plate numbers 5,6,7,8. Fixed with the M3 screws.



9, Final installation 9 plate, and covered with M3 screws.




